(K" + K)/(pi" + pi)

0.4

0.3

0.2

0.1

Ratio to LHCB

7000 GeV pp Soft QCD
I [ N N L O L L N B i %)
c
i (K/K)/(Te+T0) vs ly] (0.8 <p < 1.2 GeV) iE
- e
| = LHCB 3
| --d-- Herwig 7.2.0 default N
. —a— Pythia 8.180 default —<
— e ¢ Sherpa 1.4.0 default —02'
B 2
— —x
T —©
o™
i | | - 13
B E-----mmmmmmmmm e B------mmmmmoooee L T a i é
- - BE
- —X
B @ @ S ST LR E R EERRRED ¢ | i
— AA/—‘; —4 =
B 1°
- 1
i
I I )
©
— -1 &
| N (@]
| r | | | | | | | [ | | | | | | | | [ | -
:l T T T T | T T T T | T T T T | T T T T |:
— =2
B O-. ]
1
| —0.5
I T S SR T I T S SR T I T S SR T I T S SR T l
2.5 3 3.5 4 4.5



	Contents
	Page 1


